



Name: _____

Date: _____ Score: _____

$5 + 6 =$

$3^0 + 6 =$

$4^{(-2)} + 3 =$

$8^{(-1)} + 9 =$

$6^{(-2)} + (-9) =$

$(-2)^{(-1)} - 1 =$

$(-9)^2 - (-7) =$

$6^{(-1)} - (-7) =$

$6^{(-1)} + 5 =$

$(-6)^2 + (-7) =$

$4^{(-1)} - (-2) =$

$3 + 7 =$

$8^{(-1)} - 9 =$

$(-10)^{(-1)} - 5 =$

$10^{(-1)} + (-5) =$

$(-10)^2 - 2 =$

$5^{(-1)} + 7 =$

$(-3) - 5 =$

$(-9)^{(-1)} + 5 =$

$(-7) - (-7) =$



Name: _____

Date: _____ Score: _____

$$5 + 6 = 11$$

$$3^0 + 6 = 7$$

$$4^{(-2)} + 3 = \frac{49}{16} = 3\frac{1}{16}$$

$$8^{(-1)} + 9 = \frac{73}{8} = 9\frac{1}{8}$$

$$6^{(-2)} + (-9) = \left(-\frac{323}{36}\right) = \left(-8\frac{35}{36}\right)$$

$$(-2)^{(-1)} - 1 = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$(-9)^2 - (-7) = 88$$

$$6^{(-1)} - (-7) = \frac{43}{6} = 7\frac{1}{6}$$

$$6^{(-1)} + 5 = \frac{31}{6} = 5\frac{1}{6}$$

$$(-6)^2 + (-7) = 29$$

$$4^{(-1)} - (-2) = \frac{9}{4} = 2\frac{1}{4}$$

$$3 + 7 = 10$$

$$8^{(-1)} - 9 = \left(-\frac{71}{8}\right) = \left(-8\frac{7}{8}\right)$$

$$(-10)^{(-1)} - 5 = \left(-\frac{51}{10}\right) = \left(-5\frac{1}{10}\right)$$

$$10^{(-1)} + (-5) = \left(-\frac{49}{10}\right) = \left(-4\frac{9}{10}\right)$$

$$(-10)^2 - 2 = 98$$

$$5^{(-1)} + 7 = \frac{36}{5} = 7\frac{1}{5}$$

$$(-3) - 5 = (-8)$$

$$(-9)^{(-1)} + 5 = \frac{44}{9} = 4\frac{8}{9}$$

$$(-7) - (-7) = 0$$